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mO= 30000 #OIR 2000
&F OHd 30000 BROIK 2000
RO 30000 FOdF] 2000
FOF 10000 OmE 2000
ZO=E 10000 =N 2000
TOE 10000 BOR 2000
2 OIK 6000 =0OAT 1600
O 6000 BIOH 1200
2 OIK 6000 MO 1200
RO 1% 5000 MOz 1200
=01 3000 MO 1200
=@ 3000 =08 1200
EOH 3000 ={O) 1200
BROTE 2000 MO 1200
MO 2000 SO+ 1200
= O 2000 BROE 1000
RO 2000 RO&E 1000
sROE 2000 =0%F 1000
5= O 2000 X O 1000
RO 2000 MO 1000
=0%E 2000 tHOE 1000
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RO 1000 OE 500
ZOBE 1000 O ) 500
1% O K 1000 =0 500
w02 1000 =ZOH# 500
EOR 1000 ENOF= 500
FOT] 1000 FOE 300
FEOT] 1000 FOR 300
FEOT] 1000 WOE 32
OB 1000
82 0% 1000
EEO%F 1000
F0%5 1000
FO=R 1000
=3@) 1000
LOF5 600
ROH; 600
ROTE 600
RO 600
MOBD 600
O R 500
T OBR 500

P2



